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REVIEW #14: POLYNOMIALS & FACTORING
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& 2. A group of students are going on a field trip. If the students take 3 vans and 1 car,
they can transport 22 people. If they take 2 vans and 4 cars, they can transport 28 peopt@Nhich
system of equations can be used to find ¢, the number of people that can fit in each car, and v, the
number of people that can fit in each van? @ 3v + ¢ =22

@ 2v+4C=28%
A 3v=22 @ 3v+c=22 C. 3v+2c=22 D. v+4c=22
2v+4c=28 2v+4c =28 v+4c =28 3v+2¢c=28

A 3. Find the x- and y-intercepts of 8x—12y=-24. Dyck ¢ Cover :
$X=-24 ‘_?'MZ = 24
-1

A g ¢ -2
A. ) x-intercept: (-3, 0) C. x-intercept: (2, 0) _
Jy-intercept: 0, 2) y-intercept: (0, -3) X=-3 y =2
(_5/ 0 ) ( 0 )2 )
B. x-intercept: (0, -3) D. x-intercept: (0, 2)

y-intercept: (2, 0) y-intercept: (-3, 0)
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A 4. Which graph best represents the solution set of 5x +2y<10? 5y + 25 < |10
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A 5. What is the x-coordinate of the solution to the following system?

7x + 15y = 32
%~ 3y =20 715 32 |10 Il
I -3 20 o | -3

(A)11 C. -34

a4
B. -3 D. 4 (H,—3>
C 5,5
6. Which function represents the line that contains the point (3, -2) and has a slope of 5?
y=mx+b
-23%5(3)+b
A y=5x-2 @y=5x—17 :|25-__"55+b
B. y=5x+3 D. y=5x+12 —,7;;_b
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6 7. What is the relationship between the lines 2x+4y =12 and 3x + 6y =-12?
-2X ~2X ~3X -3

4 1- ]
B3 giag
2

: . 1= 1 -1
A. The graphs are two perpendicular lines. 3 ¥ ZX + 3 3 + .i-x
@ The graphs are two parallel lines. \/
C. The graphs have the same y-intercept.
same Slope

D. The graphs have the same x-intercept.

B 8. Solve forx: 2(3x +2) —4(x—7) % 8(2x — 3)

UX+4-Yx+28 + lbx-24
2X + 32 F lbx-24
A x=-2 —2X —2ZX
y 32 F I4x-24
- t24 +24
C. x=§ Sb F 14X
14 |4
D. x=0 4 :1: X

l 2 9. If the slope of the equation y = -2x + 6 is changed to 1 and the y-intercept is changed

to (0, -3), which statement best describes this situation? -?:
] L flew
A. The new line is perpendicular to the original line. 3 e
]
\
B. The new line is parallel to the original line. gl 3
1
C. The new line and the original line have the  EEEEEEEEENEESECELE M,
same y-intercept. !
e The new line and the original line have the ~
same x-intercept. - .
-7
-!'I
-ﬁ*
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D 10. Graphy < x + 4 on the grid below. Which coordinate point represents a solution of
this inequality? y s

= _
i o Y<Xx+4
: . NG d01—+ed )
AN AAREE below
\;I\_ N _
- b N ‘uE'u\L:"\ ‘ . \ -
A. (-7,0) —a| 7] -8 5[ A1 -a[ Yol 9 {5 6] 70| @ X
T =
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. N \ \ A\ -4 o I
AN S L NN
C. (3,9) 2NN :
@(2 4) AN ST
. y O\ b ol N h, 1N
kN NN SNBSS
5 11. Forthe line y = mx + b, where m < 0 and b > 0, what change would occur if m is
. . _ . ? '\,w‘
multiplied by -2 and b remains the same? Maah e

A. The y-intercept would become negative. = C. The resulting line would be parallel to the original.

s
(9) The slope would become positive. D. The resulting line would pass through the origin.

D 12. Each of the following tables contains elements of an (x, y) relationship. Which
table contains four points that cannot lie on the graph of a function of x? ‘
all x's are different

AlLx |12 ]3] 4 cC.| x| 0| 4|6 |10

y |-1]-2|-3]| -4 y |15 ]-1]3
B.[x|2]0[-4]5 @ x [(D] 23 Q)

y 1 313313 y | 3145 |6

A 13. A rectangle has a width of x — 6 and a length of 3x — 2. Which expression

represents the area of the rectangle?

L Lw X -b
(A) 3x2 — 20x + 12 C. 3x2—11x + 12 3% ' =) _ng] A-20x+12
B. 3x2+ 12 D.4x—8 —2Z ’;Z_).(___’Z_J




Simplify each expression.
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14. 4(xZ—4x + 6) — 2x(x — 5)

4x*-llox + 24 - 2¢% + [0X
2x* -y + 24

16. 2(x—4) - 3x(x—5)
2X -8 -3X* + |5y

~3x*+ 17X -8

Answer the following.

16. Find the product of (5x + 1) and (4x — 3).

5x |

x| 20x° | 4x

-3 |-I5% [ -3
20x*~lx -3

17. The perimeter of a triangle is 8x2 — 2x + 6. If
two sides of the triangle are x2 — x and 4x + 3,

what is the length of the missing side in terms of
X? Sum of 2 sides
,—-——_—A—-—-—'—_"\

EX*-2X + b - (X*+ 3X+3)
gX -Zxt b -X*-3Xx-3
TIX*-5x +3

Factor completely.

18. me—17x+6=_(IX-3)(x-2)

- S=-17x

x -3 = 42x>

X | 7x* [-3x T 42
-2 |z

-2 |H14x| b ~3 14
“b |7

19, 00 i+ (x=2)(3x-1)

3
3(3x*-7x +2)
X -2 gr(ZX
i = X *
AX | 3x° |-bX <D
-] "’Xl R el 5

20. 22+ 13x+15=_(X+ 5)(2x + 3)

S=13x

le 5 p= 30x"

2x | 2x% | 10x I |50
2 |15

313X |5 10

21. 23 +6x2—36x= L X (x+(f)(X'3)
ZX 2ZX 2x

2X (x*+ 3% -18)

x b S=3x%

2 P=-18x’
X _X Lox] a1
-3 |-3x|-18] 2
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2 se-80= B(X+4)(x-4)
5 5
5(x*~6)

S
D.0:T.S.

2 e—m+1= (X=-DX=1)

X -l

X | x* |-Ix

-] [-1X

S
P

D

nn

_Zx
| x*

24. 10— 17x+3=_(BX=1)(2X-3)

S=-17x

2~ P=_30x*

oy | 10x” [-2x -1 |30
-2 [-]5

-5 |-15x| 3 -3 [0
_5 "l.0

25 ax2—49=_(2x+17)(2x-7)

D.0.T.S.

26. 6x2 — 40x + 50 = 2(3x-5)(x-5)
2 z 2z

27 x2+ 11x—d2=_(X-0L)(X +7)

NoT a D.O.T.S.

2(3%x%* 20X +25)  §=-20% S= |l

P=75x" : P=-42x°

32X -5 -1 |75 xz v -1 |4z

X sz Bx -3 5 X| X “UX{ -2 |2

= 5 5 -3 |4

-5|-15x| 25 7\ x |12 17

28. 5x2 + 180 = 5()(11’ 3() 29. x2—136 = (X + L)X -0)
5 5 5015
5(x*+ 3) R
e
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30. Which expression below is equivalent to
x2 — 2x — 35?

S=-2X
p=-35x"
| 35
G D
A. (x+T7)(x—5)
B. (x—T7)(x—5) X 5
2
c. x+7x+5 K| X | 5X
(0)x-nex+s) =7 |-Tx [-35
E. None of these.
(x+5)(x-7)

31. Which of the following shows 3x? + 2x - 5 in
factored form?

9= 72X
p= - 15>
-1 115
A. (x+ 1)(3x +5) @
B. (x + 1)(3x - 5) 3x 5
c. x-nEx-5 X l 3% | 5x (
@(x-1)(3x+5) -] [-3X | -5

(X +5)(X-1)




